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ROWS
Places to do Warrior and Bridge

poses

b Whiz's activity?

Set of moral values

Body of water off the northeast coast
of Australia: 2 wds.

Wisconsin city 65 miles north of

Chicago

b Rideshare for up to six riders

On the line, in Las Vegas: 2 wds.
Obstacle course runners on a certain
game show

Gets situated for some fly-fishing,
maybe

Comet named after two
astronomers: Hyph.

Dermatology problems solved with
laser resurfacing: 2 wds.

Phrase on a legal doc: 2 wds.
Holder in a man’s closet: 2 wds.
Pine product used on decks: 2 wds.
Athenian temple built after the
Greco-Persian Wars

Herb in the celery family

9a
b
10 a

b
11 a
b
12 a

Finish by, as an event: 2 wds.

Drink with moguls around?: Hyph.

Item worn to handle sensitive
topics?: 2 wds.

Gulf of Aden country

Flemish river in WWTI history
___ paste (goop for fixing drywall)
Henry who was the U.S.’s first
Secretary of War

b Crime done by co-workers: 2 wds.

True-blue
Number that changes on a case-by-
case basis: 2 wds.

BANDS

Sakura _ (Japanese cherry
blossom festival)

The first one’s winning word was

“gladiolus™: 3 wds.
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Month that “Hath put a spirit of
youth in everything,” per Shakespeare
Gambling game

People with extraordinary skills
Cynthia of “And Just Like That...”
__ Peninsula (Gulf of Suez
neighbor)

Lydia’s portrayer in “T4r”

Have a licde snack

Actor René of “Star Trek: Deep
Space Nine”

Children’s game played by stacking
cardboard discs: 2 wds.
“Colorfully” named rapper

Trippie ____

e Tears apart, as garments
a Deceived: 2 wds.

Big name in frozen vegetables:

2 wds.

Europe’s longest river

Decision ____ (kind of flowchart)
Rock made from silt and clay

¢ Microrganism’s propellers <
d Like rich custard d
e Wouldn’t let sleep: 2 wds. a
B a Having a full-figured body, in b More together
Internet slang ¢ DPity-evoking quality
b Third base: 2 wds. a Putin a box
A
B
C
D
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